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2. [2]8435 9,010 9,010 0
1. 109990 9,010 9,010 0
3. oty & 4,000 2,000 2,000
1.[2]sorg| g5 2,000 2,000 0
1.8hA R A1) 2,000 2,000 0
2. (2]t uAT=2HEE 2,000 0 2,000
A2 =) AE =FHAAn] (&
1. al&-d | 2,000 0 2,000 (8 ”ﬁ—lT)jL*EZE A& () 2,000,000
200,0009) %10%F=
4. A28 E 1,020 1,020 0
1. [2]RzZH8% 1,020 1,020 0
1. 109990 1,020 1,020 0
4. 4894 ngds 134,389 73,198 61,191
1.9 39358 n £ 125,199 65,008 60,191
1.9 3938k 9o 72,530 50,680 21,850
1. [2]ENHYDS 72,530 50,680 21,850
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A7HE AN =

oAb F713] (2h9] A Q)
Ab A 714 =1 I
SR GRS I NEVEIC)
T 1 i o

(B EA_1F) AT A LS (5) ¢

9,960,000
(180, 0001119 *57§ ¥ )+60, 000 =
(A FA_ 1) EAF A LA, A 5T
2. 05 $9gn 1,905 0 1,905 ' 205,000
T Q(H) : 20,5009%10%=
(*é%‘%i_l%)ﬂiﬂi%ﬁx}ﬁ?ﬂ(%) : 1,100,000
50,000 117} 5-A #23] =
(o*é %_%i_l#)ﬂc}ﬂi%"éﬂ(%) : 200,000 600,000
A%33]=
. (BHEA_1F)E AT 3u)(F) -
ZAA L Z=2H =
3. EAAG A7) 130 0 130 10,0008 18] 130,000
4. H]3ET79H] 2,800 2,800 0
50,149 12,960 37,189
&3 de 33,120 12,960 20,160
A8z 1= %g—ﬁﬂg M FALE] (&
1.2959 15,440 0 15,440 (1) WA ZRIRZA () 15,200,000
© 32,0009 #4752 7k=
A A 0 10,0009 #4A]) 7H6 = 240,000
A-A 1F)SEwAA8 AL ()
2. 5G| 17,680 12,960 4,720 (":'L—lT) e 1) 2,736,000
3009 %405 %228 Y =
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64,0009 %13]=
SR WA LT EL(E) 20,0009 4278 = 840,000
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(BHA1F)ETHAGAIREZE 541 ¢
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FAH ] 550,000 %2 =
ARA_1F)EEdgA Ay
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2,485,000 #37] 4=
AEbA 1F3F)EE 2 GAel AN
(o%x__l‘r‘) U\_DO}’ ] 6,953,000
1,158,830 2 +37)| D=
(AFA 1) ERAEgAMU LA =
PRSP B SRS TR RS 1,521 1,521 ,
T A kA R AR 5 0 521" 268, 33091371 2= 805,000
(AHEA 1R E5dgAMU R A E A T a 716.000
: 119,330 %29 #37) Y@= ’
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(BHEA1F)FALT DT EG T A
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1[Z]1=AFY 6,000 6,000 0

1.E=AT-4H] 6,000 6,000 0
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1. [Z]2 53 820 820 0

1.95% 120 120 0

2. g 700 700 0

2. [2]05EETH 990 990 0

1. 059 H 990 990 0

RN DI R PRt R 2,660 2,660 0

1. &2 v 2,660 2,660 0

4. (=137 A 2,200 2,200 0

1. 9uk49) 2,200 2,200 0

2. A BA =8 13,853 5,453 8,400
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2382 20219 079 029 144] 30% 40%

15



2021HA = A= of| 2HE Al A

of AR F713] (ch9l 1)
A4 A=A 714 H) 1 )
=71%2(%)
49w | An Avgs  gagqus | S Rt g
3.395A 9 10,961 10,961 0
1.EAE 1,720 1,720 0
IS e N e 300 300 0
1Al 300 300 0
2. (]85 1,420 1,420 0
1. %89 1,420 1,420 0
2. AR 9,241 9,241 0
1.2 R3A 9,241 9,241 0
‘1.%‘1%8#1 ’ 1,841 1,841 0
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